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Convert between polar and rectangular equations
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Convert complex numbers from rectangular to polar form and vice versa
12 (1-8) 567

rSalg duladll 850l J] 45,801 §)gall o dSyell SsY Jogand
A3lhal) Lgasd alag) g 48 pal) 2las ¥ Juiad
;AAlaal) Atad aa gl g oo el (5 gl B Tl Las a2 S e

z=4+3i [ W] , zZ=—-2—1 b 1
3 & )o)l
\zl_
// P |
; /// R (A
4R - (r'f R
-251V B
\Z\:\L\*;”‘L\ \z\ - | -2-t)
—_— p—
= dy*+ 3 - [g) ey~ = | 15

15



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://t.me/mathbook10GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://iwtsp.com/971502509447
https://iwtsp.com/971502509447

T > https://t.me/mathbooklIGEN % https://t.me/alllaaamg2

050-2509447 Aall e sdall pad ~ 5l

Analyze a probability distribution and its summary statistics Example-4-Jls+(4) 603

13
! 13 Sleloamdl Ganils oSl Slas gl Judkoxs (13-16) 606

s v amArvs - A RS

i) gl o8 gl dad
Jagill Loa alaiil | o lais et Lol aeiud ASY1 cpelianl oty AW SbLed ) Jeleetd B Adlais] cilans gl | auseind
el oyl Ll Jawgill (2 Jleis | aaie5 (o Jradin G gdee il E(X) adgill daud . gyleall 81l (28421 as)

PX) e o, b Jleio¥ls X etz fasd S cupus 250 paamme = pdgill ey
gsdlaes E(X) = Y[X.P(x)]

UL a8 ) 2 o Lgp A 1 Al oSl S0 b JU ol g 355l (e Juaeld 5,85 il sy )

A
(AED) il 1 10 100 1000 5000 25,000 Qf’-"
5000 100 25 5 1 1 S\
p(X) 5802 o2~ S~ 3 b
S\31 S\% 1 ﬁ rp\'bq' 4"’ 5\’51/
E(X) = 5[X. P)]
= | (5090 loo 25 0002 Sooof 25000 )
5137 5137 5132 S\3L 5132 5132
= % uq 2 5
W r rd
_.lO;J g6£fg oD C/Ibqflﬂf-ﬁﬂ) (f’})\ 'M,;ga_/\;
k L4 — 4 7 - — L—'_ L-’ -
0 A,
g”f’? RPN SF-P1 [V IESS DL | B PSP PN S BVSSN-1 | JUPRT TN PRS- IR IO L RPN FR T
E(X) = ZD( P(Z)J = 0 (20 ‘/) + 25000 (%)) 4 15 Ooo(\_l'{—‘/) ‘
+ \ovoo (22 %) A Sove (36 2)
= Bloo 2o
2 B0 o 24 Vb aSs, ¢ M 57 a0
\ 7 - C O

16



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://t.me/mathbook10GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://iwtsp.com/971502509447
https://iwtsp.com/971502509447

d https://t.me/alllaaam82

535l a>g3 daslgl) a3la ) AED 5 ilas adlsy 100 ciaw 13) amlus) Jlexs¥) gjei)) Jgasd) gy dailus .13
AED 25 (o JS 263 s> 10 5 AED 50 Lo JS ieed s> 5 5 AED 100 (gied 3asy

o dabul dhaaa [ (el Jas
050-2509447

alall yde salall gad ~ )4 8lE

https://t.me/mathbooklIGEN [=]
i)
E -

[

AED 25 | AED50 | AED 100 | &5l gows
Jadl 0.10 0.05 0.01 0.84

Lol g Aad) Jlas%¥) sl J. .a
el i o > b

Smad) Joo aslic) cliSe o) L b ojadl o Lnasy )l @bad) ;s .C

Ol i | @ M| 30

¥ ol Gl JSa) g cdmbu)) abla) ole by Slgal 14

04 .L:,_.HFJ_\JI ) Al J i ol oMadl sasd L”_,_IL“.:_»-}’I e

o3 Lol s e cpdd) Al g8sae)) sasll sus LA
102 gl 50 saa) s 51,55 Jgas ol Wb
=

01 Lole o pral) Jlas¥) sl fo L€

0
1
el sac

17



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://t.me/mathbook10GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://iwtsp.com/971502509447
https://iwtsp.com/971502509447

‘ . O A0
o Al gihan [ (ujtall Jas https://t.me/mathbooklIGEN ?@ https://t.me/alllaaam82
050-2509447 Sa b odall d o 8 ud i il ) iilaial o o 518
t
1s Find area under normal distribution curves Example-1-Jts+(1A-1B) 619
(el 23l somie e Al Aol Sl (1,2) 625
Ry dau Al saclal) ‘:Lh':u.-i
3 YouTube

Bem gline Byl g 168 cm Lawgy Gneds dgilill (3,41 dyoey WL 880 Jobo gigy gl ydl

'z \ISISIFES
Ne— : '5L’,.:;55180cm¢,.eﬁi3b.;.3}._:¢,.‘:.3.¥|g>ﬁall e 08 .a

7V - | A

5 7 P¥ask: & oor i Ll ol
- - 2> v
+6 = = Jiuv
= 95 o N (Boemir ML = 2.57(%80 ) = 22 I

% Aln S _iv‘ AR ORE R _;,,;.‘J" L
0 Voulube™™ < g »8 L' $174.cm 5150 cm ons odsbs 79 ! Al Hgall Awidl Lo.b
wﬁ"‘? ¢ ¥ DAL NI , | | . 2
/ | Sl ) 5 S ‘e [0y

3%

2.35%
> //4.5% E

—

50 156 (62 1 7% oy 150 cam A

-6 —6 s +6
I

asisl el plissial) aglill le dulys PMs Al gl Gigli) .1
saed ol gas) Ges LaiSe £l B Jewall Sl siie
dagie)) el gotua GlS i)l sdg) Ligs Ligs 30
Sbldl ol Um0l s 6 sslus (obero 3l,ou) e s 82
’ L_,.L_...Ja E!___a_;g:s o3

s 64 Jlg> soiwa vie @B dcrdall sl calS 13) A
) gyiane calS Lol awlal) J3s colelal) sae sis
T oalasa¥l e sl lig Lasic
el ol S 290 kM aslas gees 0l ddlugdl slde .2
wie 3s3s)) o aSlris 2l S Jolis 29.6 KM 2dlas 6ol oais s 76 e p5lz mminl] s olS L2 dgiddl il s3= b
g0 bl ol s 38l aslsll 5.4 KM/L ol oboas 31,5l i s> 88
Lol Liyje
aluo Lgiods a0 Cses 85k) oSy o) Jle¥l s0e 530 .2
._’Usm@ijay1mm{ud§¢m35km
Lo kel s Lylad o ally e o (po dsgiol) 2l Lo b

" 940.40 km/L 5 24.2 km/L . 18



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://t.me/mathbook10GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://iwtsp.com/971502509447

e dalud ihuas [ (uodal) Jas https://t.me/mathbooklIGEN ? https //t.me/alllaaam82
050-2509447 el e galall b~ 50

16 Estimate limits of functions at infinity

Gulg Wi s Jlgall Oblgs

Example-6-Jie+(6A-6C) 647
(36,38,39,41,42,43,46) 649

Ll W)t gl sl

A Gl e Jlaianls Gl Les 2l S 08l 0)-,08

1
lim —
x—-w X ) y
[wm Zw=0 ,,,qgu) o) 6':-’(}’:/“”03*‘/ /L:’t:LHjJI s -
% L 5 & a7 ) AN Y b vy _f(l')ZTk
'O{v-'o.,;JI(":'U'/J er:’t.—)/ S Ay
/(LJ"’J‘ /‘V/J:Jl Y >
0] - | x
T O x T

y=0
X lo loo [ooo |loooo [oooD
f(x) o.\ 0.0l o.00l| |0.000| |0-0000]

0l e Py &b % 2 ) Wal IS g s

-

Dy o) dalg g I8

36. Limooez"‘ 5 42. lim xcos X

X—00

: 5 __ 7.4 _ —
38. xlu‘_r},o (x> = 7x* —4x+ 1) a6. 1i 42:1: 13
X——00 x+8
2 —
39. lim % +x— 22

x—oo  4x3 —13 13

3x— 4
a1. lim o3

43. lim St3_

. Iim e
X——0o0 3 -3

19



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://t.me/mathbook10GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://iwtsp.com/971502509447
https://iwtsp.com/971502509447

e dalud ihuas [ (uodal) Jas https://t.me/mathbooklIGEN % https //t.me/alllaaam82
050-2509447 alall yde salall g~ yd

Al Gl el Jleaials Gl Las Bl S -08GT ) 508

. 3 [ 1 1
tim (25 +2) =2 |"
l.'m <]9(1):2 rf S~ ‘-6\,,.» /f;'[‘:i}',l;” 4'—'-r=_\¥. % ;
TV 2 piMp el 2 8 Taw U [ N1/,
Jooslyd! FF °H
-— ] 3 1
~—— 00— (0 QG X 'f(‘)__.l_f +21k
X —\oeove [\ ool | —\cos —\oco —-\o *1
f(x) -99992% 71199999 F | 1.9997 | (97
:Z'pr’ P (x) R’-’J'(f‘-:/\}f va r.:fq(:,a;) K ():,:2\ Syt
lim e*sin3nx and lim e*sin3mx y
X——00 X—=00
s, H fix) =e*sin3xm
T oy WWiey xaw T W [ L1 Lan Il
x 'é\—/": C))/ W_<_ 32}?__)0/‘; /J'M g(%) 7,
) l_vM
—00 , 'S UIL CJ//J C—/u"’

1 y
/g | 2
e O e A X 00 (4 i X ——>
x —~100 —50 10 0 10 50 100
fx) EERVET —20x10722 | —0.00005| O | 21966 | 4.8 x 102" | —2.0 x 10%3

A

L.
>

0 o i Len ﬁfc;,l} xS b Wai unr I3

X o Wil Loy S Lt e &

20



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://t.me/mathbook10GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://iwtsp.com/971502509447

P . [E]z m]
ade Al dhaaa [ Guodal) Jas https://t.me/mathbooklIGEN %Q https://t.me/alllaaam82
050-2509447 w aall yiie salall gad ~ 40 3ld El " Cilualy ) clilaial 5 2 35l 3L
[4

Evaluate limits of polynomial and rational functions at selected points
17 . (23-34) 660
Badoes bl wie dgaaddl 5)&153 wl Jladdl bl Eua:d Sl

ok oo Dby S ded

23, ljm 22 =5x—12 24. lim —=
x—d x—4 x—=0Vx+1 —1
2 _ _
25. lim £ +24x > 26. lim Vx =3
x—1 xc—1 x—9 x—9
2 —
27. lim 4x2 4+ 21x+ 5 28. 1lim 5—4/18 + x
1——5 3x2 + 17x + 10 iy x—7
. +2 . 8x2+2x—3
29. lim —= 30. lim
et 2 11202 + 8y — 7
2
. 2x . x2—=2x—15
31. lim 32. lim
=03 —vVx+9 x——3 x+3
) Vx+3 -3 _
33, lim ~—— 34, Jim Yot x — 1
x—6 X xr—0 X

21



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://t.me/mathbook10GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://iwtsp.com/971502509447
https://iwtsp.com/971502509447

P . [E]z m]
ade Al dhaaa [ Guodal) Jas https://t.me/mathbooklIGEN %Q https://t.me/alllaaam82
050-2509447 w aall yiie salall gad ~ 40 3ld El " Cilualy ) clilaial 5 2 35l 3L
[4

) il Jal gall ) Jalatlf aladiud

5 - - 0 -
alally Javed! opa JS Judoes IMB (o0 Lo B5lead! Jaliid ‘0 Agall pd Aaall Jl cdiomgy cduwd s Al olues cwd 13
(839290 sé of ABdi> Aaid LI b39>g0 (1955 JB bl oda Jia) . 2SAELI Jalgall JLats g

Sl Les AL 5 !
. x*2-=x-20 Y
llm _ > | -
==t x+4 {12 0 "
livn (_'_"V_(E/lg_lf_) = =-4-5 I —4
L1 .
T z <4 ( Lol
= |- 9 | 5(_____3_ \
= lim (l,—- '5) ' 1 ——— I
n— -y flo) = x+ 4
li x—3 \
S P _3x2—7x+21  _ > -3 = i

= bhiw

z>3  2¥(z-3)-T(x-3)

= lim %3 2 = |5
23 (29 (27-7) 3-%
. x*—-3x2—4x+12
o X +2 1\ 2 (x-3)-4(x-23) |_\.. (2 -3)( 2 -2 (47)
— 1N -
2 —>_7 2z 4 2 —>_ M'L
L (z-3) (2" -x) = Vom (-3 (-2)
} —_ A +T
o : (~2-3)(-2-2) = 1205
2_7x+6
lim 3xxz_1it—|__42 = e (e - 1)(x_/é,) - 6 -1
z—>6 (31*1)(;5/6) 3Ce) 7
- | x -\ 5 N
- R —_— - - _
16 3x 471 25 5

22



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://t.me/mathbook10GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://iwtsp.com/971502509447

https://t.me/mathbookIIGEN %@E https://t.me/alllaaam8?
Ei . Clualy ) cililadial 5 a ke 3LE

ade Aalul  Ahaa [ (ujial) Jos
050-2509447 w alall phic gaal) g - 5508
——— LN Gluald aliall gl Jasad) (U] aladied
ASAEL Jalgadl slais ) of gl Al gl dasad! Glas] (B9 Alias pé Aiio Lpd Jiasgail| B bl sl ¢yl adb Jla
G s by S o
lim Vx—3 ‘\(ﬁ +$)
x-9 Xx—9 & y
= v (ﬁ-—}) (-r’;- *3) = \iw __.\__— *g VX —3
9 (1—-9)(J—£+3) z+9 (x +3 1 flx) = ~—3
_I'?\--. 1
r—>9 ()/9)(1;* ,_)) {9 +2 4 8 |12 |x
_(

(x-25)({x +5)

lim
©B VX -5 & = liwm
*=25 ({xX-5) ({x +5) :‘(o]
i (£ZE5)(fx +5)
z-»25 x <25
= /fVV‘ (‘/’: 'f";)
=25
lim 2-Vxt+4 < (?_+(z +‘f) _ (flM _x
20 /2(2 +JL;_U)

Ny

N LQ—— m)(z—“\‘s]z_*“q)

e (2 +{z+F) livn
220 2 +{Z +y

= lim 4 - (x +4)
2ve z( 2+ fxxu) o 1
\ g

2 4+ oty



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://t.me/mathbook10GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://iwtsp.com/971502509447
https://iwtsp.com/971502509447

050-2509447 Aall e sdall pad ~ 5l

T > https://t.me/mathbooklIGEN @ https://t.me/alllaaamg2

18 Use the Product and Quotient Rules to calculate derivatives Example-6-Jie+(6A-6B) 676
Slitdall Oluod downdl! glg il 2606 Guacld alusdi (28-37) 678
o pal) ddioa Bacld
Bl ddide b Sl AW e Ll Jleain! LiSlasg c o lod! fdidin ipin = Bygmalls olud ¥ gg.’!h o b Adide fia &)

1S o

o pial | Adiiice A ld

'%[f(x)g(x)]—f(r)g(r)+f(1)g(x) (N8 (X i B3gnge § 5 f (eIl (pe IS AdTe ZOIS 13l

: 30 Les W1y S 2and i
h(x) = (x3 - 2x+7)(3x*> - 5) S Lew Ul S daTin uzg

W OO = (PN @)l W) + (6W) Ale) (P N)

= (2D (34-5), + (6x)(X= 22 +7)

4 R 2
= Ix -15x —bx +10

[A R
= 152 -33%x +42Zx + 10

h(x) = (x> — 4x? + 48x — 64)(6x* — x — 2)
h'Go = (P acl)( W) + (W ) I, N)
= (3x-8x+U8) (bx-2-2) + (2 - ) (X x4 uGx —64)

18 = 3 = b —UBE + B A b+ 288 x ~ k3~ 96

- 301! - (oo xs+8‘4o; — 8482 _— 22

h(x) = (x° + 13x%)(7x® — 5x% + 18)
W = (P asie)( W) + (69 i) (J, )

- (sx&+26x)(¥x—5x+lgl+(2|z —102)(%° + 132%)

3
= 351?—?—5%‘1— Qolﬁ—i-lg?xq-— 130 x + 463x

t 6 _ & 3
= 56x —35% , 545x —260Xx + 46%x

h(x) = (x* + x> + x)(8x* + 3)
WG = (@Y ac)( W) + (69 le) (P

= L?_x 3%+ \)(‘82:14»31 +(16x) (X + 2 +2)

16x3+ bx +24 X + C)xl+6&;¢,l+3

4 3 2
= HOx + 32 2 433 +6x + 3

24



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://t.me/mathbook10GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://iwtsp.com/971502509447

PNSLM‘UAMIWJM‘J‘;
050-2509447

.

https://t.me/mathbook{IGEN

aall yiie salall gad ~ 40 3ld

@ https://t.me/alllaaam82

Approximate the ar
19 pp

Cdlubatinall plisdul Sovedl Cond dobonodl Coyds

ea under a curve using rectangles

(1-5)+(8-13) 687

V|

il Sal) Ci) i) aladiily Saial) cad daloal)

Milatuns 1264 alasiuly [0,12] 84401 e X semlls f(x) = =22 + 12X Gmia (o Bygsazll aahill Al 38
Aela,) wamt) datue JS8uela] el yhatl Joniw! .cus Ul e

Y‘\"SL—\’- a> L\
\\
20
_ 27
32
35
36
35
37
Rog= [-FL9 D = 2%
Rig= |+ BL) = 20
- ) =
Rig= 1- PL) = o
= Az N e L)

A

y

16
g
of "4 g 12 &
< Mo V‘;sf__l,.ao\___l.\
R,-2.£C(2) = yo
R, - 2.8(4) = 64
Raz 2.8 6) = #2

Ry= 2. £(% ) = 6%
Rg=2. f(10) = Uo
Re=2-FC2): o

= Wz ) L

¥
2+
24
16
8_
S
Of Ppeg? 13 X
Rz 3.P3) - &
L =3 P(8) = R
Ry= 3.£(9) = <
Rq: 3- ‘P(\'l);’ (o)

=Nz N a- L)

10=]

25



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://t.me/mathbook10GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://iwtsp.com/971502509447
https://iwtsp.com/971502509447

@NSLM‘UAM/UAJM\JAG
050-2509447

https://t.me/mathbook{IGEN

alall yde salall gad ~ )4 8lE

@ https://t.me/alllaaam82

Selaius 12086 plakiuwly [0,24] 54401 e X sslly f(X) = =22 + 24 X i O Byguael] Aalaill Alica i)
elasy| yasd Jedaiie JS3uelat fras¥l Cd dall Jeaiud . Al e

—150

j7ﬂﬁﬁ§

—100

~_
|

\

A

0 10 2[0

3_22,_.» \2 <\,S/L—'L oo LA

R‘: 2 -‘2(2): €%

RZ;Q.-‘P(L")Z ‘60
Ry 2.2(¢)= 216

Rq: 2.’?(%): 256

g = 20 fLi0): 280
Re = 2.2y 228
Ry: 2 -f0%)= 730
Re=9.P(16): 25¢
Ry=2 . P08y 216
Rz 2. P(20)= (46

R“:l-‘P(ZL): 83
|7_~.’L ‘P(Z‘i)
22.8% =2 = 1) 2 LA

il

ol 7 A

A 1]
Of 3 ¢ d%2 (5 12%%, W

o e ? <‘,‘s"-’L_’=1:x.__A\
R = 3-P(3)= (89
Ro= 36 P(6)= 324
Ri= 3e £( 9= 405
Ruz= P12 )= 432

Yos

Re= 3,815 )-
Re- 3. P18): 324
Ry- 3« P21 )= 179

Re- 3.2 ()= o
2268 3 ez A\ am LK

ZENN

AN

2 le 2P| 24

0[ 4., o 1

C M 6 I\ A
Ri= 4 P> = 320
Ro=4e £( 2 Y= g\2
Ry- ke P 12): 576
Ry=t% o fCIC)- S12-
Re-%6P(20)- 320
Re-U4eflyy: o

2240 =2 \azt) 3 L

10=]

26



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://t.me/mathbook10GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://iwtsp.com/971502509447
https://iwtsp.com/971502509447

050-2509447 Aall e sdall pad ~ 5l

T > https://t.me/mathbooklIGEN @ https://t.me/alllaaamg2

clbioall )y 5 pmnd) il ) aladialy  Aadal) cod daluall
S e Ol Jlarialy plasinl [0,4] 57401 (e X sezlls f(X) = 27 dmin s Byguacell Aalaill A luns 38
Oy d il b gl) o | o3 cLple sy spaset] SMdatud | ielgdl g pudl 03 (Sadd! ALY Jeatuwl . Buslybusg Laa sy

64 16
12+ .
T
4+ at
b- ; T ) T : T ! T ‘b‘ 1 1 ; T 3 I : T
T - S G A L) B UL e
R\: \-‘P(L’) = ) R\: l- EL\): i
R,- l« 2CV) = ) R, - |« 2(2):
3' | - 9(2) 4 REF l o £ L 3= 9
Ry= L+ P(3)= 9 Re- 1. 2C4)- 16
S R A WY 30 = N> ) ds b

305300 > W« b G UL ol visl, Qi o8 V) L)
ol eel 3AM L h ) e W & U B YT dsdyes)

ap P

27



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://t.me/mathbook10GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://iwtsp.com/971502509447
https://iwtsp.com/971502509447

e dalud ihuas [ (uodal) Jas https://t.me/mathbooklIGEN ? https //t.me/alllaaam82
050-2509447 el e galall b~ 50 '

12
IS oo i Jleatuly alagiuly [1,5] 844l de X 5slls f (%) = T ek O Bygeacell Aakaill Al ind
oyl T awg ) e 6 Lle L) cpomt) cMdaiud | e 19at (gl @5 Gosd| BlloYT Lot . Bas g 5ums L sl

|

v e s 4} of ) 2z 34 3

2N VB st AN o) a ) b sl a
Ri- V.P(v) = 2 Ro-1.2le):- €
Rz (- 2C2)= 6 Rp- L RC3):= 4

Ry- | -#3) - & Ry= |« #ly )= 3

Ry- L« 8= 3 Re=1.P(5)- 2.y

25 = =N > L 5.4 = 3dl> R ds

25 >3-\ > 154 « bl S UL §ol v, Al pd oY) L)
w02l 2 SRS Ly f @l & U B (T e dred

P

28



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://t.me/mathbook10GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://t.me/mathbook11GEN
https://iwtsp.com/971502509447
https://iwtsp.com/971502509447

P . O A0
adle Aol | Alaaa [ (ujdall Jas https://t.me/mathbooklIGEN ﬁQ https://t.me/alllaaam82
050-2509447 w aall yiie salall gad ~ 40 3ld EI Aok Cilualy ) clilaial 5 2 35l 3L

Use the Fundamental Theorem of Calculus
(12-21) 695
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Find products quotients, powers, and roots of complex numbers in polar form
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(36-45)
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4
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3 4
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Find probabilities using binomial distributions (5,6) 614
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Find instantaneous rates of change by calculating derivatives Example-5-Jls+(5) 675
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18.
19.

edadid) a8 AL ey dolih (g Slowd Aiidied) pasiul
Aaglagd) &yl (oo ila s JSI 5 piually (ol
fx) = 2x* + 8x; [—5, 0]

g(m) = m® — 4m + 10; [=3, 3]

20. r(t) = t* + 612 —2;[ 1, 4]
21. t(u) = u® + 15u> + 75u + 115; [—6, —3]
22. k(p) = p* — 8p% + 2; 10, 3]
23. f(x) = —5x* — 90x; [—11, —8]
24. z(k) = k® — 3k? + 3k; [0, 3]
25. a(d) = d* —3d°% + 2; [-1, 4]
26. c(n) =31’ +3n2 — 61 + 8; [~5, 5]
" A learning outcome from the SoW Undisclosed Undisclosed
ubail| Lasdl o 30 Ohae ni e pd
A learning outcome from the SoW Undisclosed Undisclosed
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